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Important Insgructions :

1.

2,

Immediately fili in the particulars on this page of the Test
Booklet with Blue/ Black Ball Point Pen.

‘This Test Booklet consists of three parts - Part I, Part 1I and
Part HI. Part] has 30 objective type questions of Mathematics
consisting of FOUR (4) marks for each correct response.
Part Il Aptitude Test has 50 objective tvpe questions
consisting of FOUR {4} marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the guestion in
the Answer Sheet placed inside this Test Booklet. Use Blue/
Black Ball Point Pen only for writing particulars/marking
responses on Side-1 and Side-2 of the Answer Sheet. Part 1T
consists of 2 questions carrying 70 marks which are to be
attempted on a separate Drawing Sheet which is also placed
inside the Test Booklet, Marks allotted to each question are
writicn against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each incorrect response in Tart | and Part 11, one~fourth (%)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

There is only one correct response for each question in Part [
and Part 11 Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
Om completion of the test, the candidates must hand over
the Answer Sheet of Mathematics and Aptitude Test-Part I
& Il and the Drawing Sheet of Aptitude Test-Part III
alongwith Test Booklet for Part T to the Invigilator in the
Room/Hall. Candidates are allowed to take away with
them the Test Booklet of Aptitude Test-Part I & I

The CODE for this Booklet is N. Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet. :
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Part I / YA 1
Mathematics / Tt

A common tangent to x*>—2y%=18 and
x2+12=9is :

1) y=+2x+35

(2) y=2x+3.5

(3) y=V2x+343

4) y=2x+3.7

Let A and B be two events such that
P(AUB)=3/4 and 1/8 = P(AnB)< 3/8.
P(A)+P(B)= 7/8
P(A)+P(B)< 11/8
Statement - 1 is false ; Sta-tement -2
is true. http://www.iitscholars.com
(2) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is a correct

Statement 1 :
Statement 2 :

1)

explanation for Statement - 1.
(3) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1.
(4) Statement - 1 is true ; Statement - 2

is false.

Let f be a differentiable function such that

8f(x) +-6f(%}—x=5, (x#0) and

y=x2 f(x), then dy at x=—11is:
i dx
1
O
15
2 1z
15
® "4
1 Educational Material Downloade

1.

4) -~ 14 Get CBSE Notes, Video Tutoria

x2~2y2=18wﬂ+yi=9$1 E TS
T e

1) y=v2x+3J5

2) y=2x+3y5

(3) y=+2x+343

4) y=2x+347

AT A o1 B U6 ) 9 § 5 PAUB) =3/4
TA11/8 < P(AnB)< 3/8 &1

wH9T1: PA)+PB)= 7/8

®HAT2: P(A)+P(B)< 11/8

(1) I -1 AT ¢, F99 - 2TA ¢

FYT -1 9F T ; FI7 2 €A 3,
U - 2% - 1 FI W& e T

(2)

FUT -18A T FUF - 29A T
YT - 2, HAT - 1 I Tt ureA TE
?l

FYT - 1WA §, B - 2 WA ¢!

(3)
(4)

A fUF CHT HAawEAEd $a9 2, %
8f(x)+6f(-§-)—x=5, (x20) & T

y=x2f(i)%,?ffx=—1q1%$l'qﬁ%:
1

W 7
15

@ 1z
15

G 1
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Statement 1 : The line 2x+y+6=0 is
perpendicular to the line x—2y+5=0and
second line passes through (1, 3).

Statement 2 : Product of the slopes of any
two parallel lines is equal to —1.

(1) Statement - 1 is false ; Statement - 2
is frue. http://www.iitscholars.com

(2) Statement'- 1 is true ; Statement - 2
is true; Statement - 2 is a correct
explanation for Statement - 1.

(3) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1.

(4) - Statement - 1 is true ; Statement - 2
is false.

3 :
2 cot~1{7) +cos ™1 [g ), in principal value,

is equal to :
17
(1) cosec 125

(44
~-1| =
v 125]

44
(3) cos 117]

4]

(4) tan—1| —F ucational Material Downloadg
117 JGet CBSE Notes, Video Tutoria

HITL: W 20 +y+6=0 W x—2y+5=0
R FFad ¢ a9 g @ (1, 3) ¥ B F:= I
g

HYA 2 : T THIAE @I T Al H1 IR
~1%

(1) 99 - 1 ATH T, HE - 2 TA B

(2) éﬁﬂ?{—lﬂ%;%ﬁ%ﬁ—zmﬁ
HYT - 2, HIT - 1 5] Wl = )

() FW-19AE; F0 -29F T
W - 2, FYT - 1 ! T S T
- ¥

(4) FI - 19 T, FUT - 2 99A B

3
2 cot~1(7) +cos“1(“) T B UM SR

5
7

117
=
(1) cosec (125 ]

4

)

(2) «cos 125
44

(3) cos~1 117
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6w F V\:;'md x meter high above the
i gxﬁ'g;}n%gml‘, the angles of elevation
ke predsionlon the top and the foot of

another house exactly oppoéite to the
window in the same street are o and 8
respectively. Then the height (in meters)
of the house on the opposite side is :

(1) x(1+cota cosp)
{2) x(1+tana cotp)
(3) x(1+tana cosp)
(4) x(1+cota tanf)

If a variable line, passing through the point
of intersection of the lines x+2y—-1=0
and 2x —y—1=0, meets the coordinate
axes in A and B, then the locus of the
mid-point of AB is :

(1) x+3y+10xy=0

(2) x+3y=0

(3) =x+3y=10

(4) x+3y=10xy

—* A A Al — A fat
Let v=2i+j—k and w =i + 3k.

_)
If u 1s a unit vector, then the maximum

value of the scalar triple product

- = o
uv wiils:

(1)  e0

) Ve

(3) m + ‘/6 Educational Material Download
(4) J§9— Get CBSE Notes, Video Tutoria

]

T el H, oft ¥ i, A S9E © fem @
farzst @ 36 el ¥ TR =Y iR g wae
F RER o 9T & T 9° FGAN R0
FAM: o qM B &t A WY T wER Y SR
(e ) ¢

(1) x(1+cota cosB)
(2) x(1+tana cotB)
(3) x(1+tana cosfl)
(4) x(1+cota tanf)

afz wF = Y@, @ail x+2y—1=0 M@
2x~y-1=0% Vo< fig A & = 9l ¢
A Frduis el B A PUWB W FRA §, @
AB ¥ nea-foig %1 figma # :

(1) x+3y+10xy=0
(2) x+3y=0

(3) x+3y=10

(4) x+3y=10 xy

— A A ~ — A N
HAl v =2i + j —k 99 w = i + 3k
21 gf 4 ©E WEE wiew 2, @ sy B

e

W[uv w}“ﬂ@ﬂﬁlﬂﬁmmﬂ%:

(1) o
2 Vo
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10.

11.

12.

eyfd ﬁ}‘ﬂven parabola and L be

of .ItS latus rectum in the first
qua {{F ord is drawn through L
with slope —1, then the length of this
chord is :

1 32402
(2) 32

(3) 1642
(4) 16V3

If the system of linear equations,
x+2ay+az=0, x+3by+bz=0 and
x+4cy+cz=0 has a non - zero solation,
then a, b, c satisfy :

(1) 2ab=ac+bc
(2) 2b=a+c
(3) b?=ac

(4) 2ac=ab+bc

The rate of change of the volume of a
sphere with respect to its surface area,
when the radius is 2 units, is :

(1)
(2)
(3)
(4)

N B =

If p is any logical staternent, then :
) pvi~p)=p
(2) pa(~p) is a tautology

9. WM y?=16x T& {1 T WEed § qAL
9% TR &1 v wgate F T SR
e LA Sl I Jvell O S 2, foaat e
1w E R AR e

). 322
(2) 32

B) 1642
) 163

10. 3fg Yo gdwwm fem
x+2ay+az=0, x+3by+bz=0 daMm

x+4cy+cz=0 F TH AW T ®, 6
a,b,cﬁgﬁilﬂa%:

(1) 2ab=ac+bc
(2) 2b=a+c
(3) b?=ac

(4) 2ac=ab+bc

11. TF M & (<Y Q4F%a & 9y 39
Fra & ufEds &1 R, o9 @@
2'5311'5%,%:

1) 1
2 4
@) 3
4) 2

12. I p & 9 W0 HEA €, 9@ ¢

(1) pv(~p)=p
(2)  pa(~p) ¥ T R

(3) pv(~p) isEdusatianal Matatial Downloaddd from h@g://weqy)dqmmmﬁﬂ 2

Get CBSE Notes, Video Tutoria
(4) prp=p
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J (4) pap=p




ﬂ% wq;m the lines 2x=3y= -z
and :

14.

15.

16.

y=

l'z'ﬁEEOEduccltlon

The coefficient of 2% in
(1+12 (1 +112) (1+12) is

(1) ¢

(2) 2C,+13
(@) 12C +2
(@) 12C, +1

If m is the slope of a tangent to the curve
e¥=1+x2, at the point (x, y) on the curve,
then all possible values of m lie in the

intervai :
1 [-11]
(2 [0 1}
@ 0=
4 (-« -1)
x cos x2dx

The integral Jlns cos(In35 — x2) + cosx?
isequal to:
® g

2 5

1 3
@ 45
(3) % In —3—

Educational Material Downloade

(4) % In % Get CBSE Notes, Video Tutorial

13.

14.

15‘

16.

@S 2x=3y= -2 AW ~6x=y=4z % &9
FEWL:

1 o

@ 30°

(3) 45°

@) 90°

(1+12)12 (1+612) (1+2%) & TER d 24 &1
TN 2 :

(1) 12¢

(2 12C,+13

(3) 12Cg+2

@) 12C +1

IR TH eV=1+22 & A (v, y) W&
=9 W # @ m €, A mF it g o
fradme A fea ¥ agd:

1)
@)
@)
(4)

[_1: 1]
[0, 1]

(1, «)
(== -1)

Jin7 xcosx2dx

cos(In35 - x2)+ cosx

J

in5

2

!

5

R|= al= N
Nl Ny |\

H from http://www.evidyarthi.in/
5, Test Pa(asrs &Eamp_@_ Papers
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18.

dx equals :
Egugaf }6
7
(1) x 5+ C
: 2(x7+ x“+ I)
14
2 — =  _+C

G)

(4) ————— +C

The general solution of the differential
equation

M log

(2) log

3) log

aI Downloade
ideo Tutorial$,

onal Mat

(4) log (CotH §§Eﬁote

18.

from http://w w evidya tlai
Test Paf)‘%)s & [

7213 4 515

dx SEI T :
(1+1+1)
7
(1) al =+ C
7 2
2(x+x+1)
14
2 ———>+C
(x7+x2+1)
14
3) X +C
2(x7+x i—l)
7
4 ——=+C
(x7+x2+1)
HTHA GHIHIT
ﬂ+5in( y]=sin(x~y] F=1
dx
HHE S

=

2sinx = C

/
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20.

ERBE Edugatipag ;
Ly :3x+y—a+3=0, where o is a positive
real number, and

C: x?+y*—2x+4y—4=0.

Statement 1 : If line L, is a chord of the
circle C, then the line 1, is not always a
diameter of the circle C.

Statement 2 : If ﬁne L, is a diameter of the
circle C, then the line L, is not a chord of
the circle C.

Then,

(1) Statement - 2 is and

Statermnent - 1 is false.

true

(2) both the statements are true.

(3) both the statements are false.

(4) Statement - 1 is
statement - 2 is false.

true and

Let S be the set of all real matrices,

a b
A= L d} such that a+d=2 and
AT=A2-2A. ThenS:
(1) has exactly four elements.

(2) is an empty set.

(3) has exadlyEgucat?onnllwtterlal Downloadd
Get CBSE Notes, Video Tutoria

(4) has exactly two elements,

19.

20.

d from h@g //www eVId\ﬁhl in/
Is, Test P?)i)iers &ﬁS% %?pﬁrs %I

e v fa=m st .

L Pdx+yt+ta—2=0;
L,:3x+y—a+3= ~0 % T o TF YT
ATGaE e ®, a9

C:x?+y>—2x+4y-4=0.

FUT1: AR L, FACH & a1 8, AL, o0
I C T = T ¥
FYT2: ML, FACHTH =W E, AL, g9 C
! e 781 B

(1) Y - 290 T, FYT - 1 I0A )
(2) EHi wuF wA )

(3) 3 FgT 3EE ¥

(4) ®F - 16A E. FUT - 2 IHA T

N S WY arEtaE AoIE F =y ¥,

A=[:':} B9 & f% a+d=2 9m
AT=A2—2A g @ s:

(1) ¥ ¥9a AR FTI9 T

@ = R wge B

FHA B



é &ym ulation A has 100 | 21. #fg uws wufe A ® 100 T&mm
Gbservasons 1 .., 200 and another 101, 102, ..., 200 T 9= g& 99fe B ® 100
FB i Fghentign 100 observations 151, Q8T 151, 152, .., 250 §1 A% V, 991 Vg
152, .., 250. If V, and Vj represent the Fhw: 991 wnfed ¥ yee gl € @
variances of two populations respectively, UV, : Vg T
then the ratio V, : Vg is :

1) 3:2 1) 3:2
(2 1:1 (2) 1:1
(3) 2:3 (3) 2:3
4 1:2 (3 1:2
22. Statement 1 : If three positive numbers in | 22, &9 1 : AfE ToedAs 93 &1 49 ocq=®

G.P. represent the sides of a triangle, then
the common ratio of the G.P. must lie

J'E;ﬂland\fg+l
2 2

between

Statement 2 : Three positive numbers can
form sides of a triangle if sum of any two
numbers is greater than the third number.

(1) Statement - 1 is false ; Statement - 2
is true.

(2) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is a correct
explanation for Statement - 1.

(3) Stateinent - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1.

et F s &1 gt w1 frefue
F €, @ e 9E %1 9E W

‘[5_2_ o ‘[5_;1 ¥ &= frug ¥

HYF 2 : A T ¥ gemei § fH= @
%1 4 Al @ 5y 9, & 97 vEn T G
F1 qenaAl * fefrg F awdar €

(1) w9 - 13999 ¢, FYF - 2 FA T

) F97 - 17@ T ; FUT 2 9 &,
FYA - 2, HUA - 1 F e ATEA T

(3)‘ FUA - 1 HE E; WA - 2T T ;
FHYF - 2, FUT 1 FH & AT AEH ¢

(4) StatementEdﬁ!%’é'?ﬂ?b""ﬁ‘r’él@'xﬂ%ﬂf“%ﬂ‘ d from heg://vepepaevidy et/ e - 2 318 B
is false. Get CBSE Notes, Video Tutoridls, Test Papers & Sample Papers




24.

'@V‘iﬁzﬁﬁhlﬂegral value of x which

e inequality 10C,

_q > 2x10C,
Education

satisfies

1 6
2) 5
@) 8
4) 9

If f (x)=x | x |, then for any real numbers

a and b with a<b, the value of

b
jf(x)dx equals :

1
M 5@ -v)
) %(Ibl3—|at3)

1.3 3
Zp? -
@) 3lb’-a

Educational Material Downloadg

(a3 + b3 ) Get CBSE Notes, Video Tutoria

W=

(4)

23,

x F1 98 TdH YATHS [ONHF T, 50

srfaa 10 > 2% 10C_ &) §q= +1 §,
2

1 6

2) S

3) 8

@ 9

ﬂﬁ_f(x)=xlx{%,?ﬁﬁ'lﬁﬁ$ﬂ@laﬁalﬁmb
b
& fag, sefa<b ®, jf(x)dxarm%:
1,3 .3
m 3({*-v’)
1 3 3
@ 3(vf-1aP)

1,.3 3
— b —a
(3} 3|

d from http://www.evidyarthi.in/
Is, Test P &5 |
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26.

- W@Yartﬁi, then the wvalue of
L 2447462244z s

FREE Education
1 -9

2 -5
3) 3

4 6

If for some real number a,

im sin 2x +3asmx ists, then the Limit

x -0 x

is equal to :
1 2

2) -2
G -1

@ 1

If a vamiable plane passes through a fixed
point {1, —2, 3) and meets the coordinate
axes at points A, B, C, then the point of
intersection of the planes through A, B, C
parallel to the coordinate planes lies on :

1 1
(1) xy+5yz—§zx=6
2 L 1 =6
(2) =xy 2y'z+3zx—

3 z—2zx+ = xyz
( ) y %ggcatfggal Material Downloadd
Get CBSE Notes, Video Tutoria

(4) xy—2yz+3zx=3xyz

25.

26.

27.

e z=i (i + V2)R, M4 +422+ 622+ 42
FHAE

1n -9

2 -5

3) 3

(4) 6

#fe fedl armfas d=91 a2 & A

sin2x +asin x Ha'!ﬂﬁ?lﬁ%,ﬂ"[%

lim 3

x -0 x

W | E ;

1 2

2 -2

3 -1

4 1

Ifs T = wEa U fer feg 1, —2,3) @
TR Tl & aen T 1all F figad A, B,
C W %EM g, @A, B, CF T 91 9,
frdwis a1l & Twia wuwe! & yfaeded
foig e e ae d:

1 1
(1) xy+ Y= gzx=6

1 1
(2) xy-— —2-yz+ sz=6

d from h&ap)://w%%/vfé\%é%ﬁ%ﬁ#/z xyz

s, Test Papers & Sample Papers

xy—2yz + 3zx=3xyz



29.

30.

@Vje}?grthiunctions defined by

ﬁBEE—EduqatiogeR, x£—1, and
r+1

g(x) =x2+41, xeR. Then gof is :

(1)

(2)

3)

@

neither one - one nor onto.
one - one but not onto.
onto but not one - one.

both one - one and onto.

A tree, in each year, grows 5 cm less than
it grew in the previous year. If it grew
half a metre in the first year, then the
height of the tree (in metres), when it ceases

to grow, is :
(1) 2.00
(2) 3.00
(3) 2.75
(4) 2.50

If the quadratic equation
3x2+2(a?+1x+(a2—3a+ 2) =0

possesses roots of opposite signs, then a
lies in the interval :

1) (@3

(2) (=, —1)

(3) (_ L 1) Educational Material Download
. Get CBSE Notes, Video Tutori

4 L2

|

28.

29.

30.

Al faM g, flx)= xeR, x#—1 A9l

x+ 17
g(x)=x2+1, xeR T RvIfed wem § a9

gof :

(1) TN THH F T @ s=Ew B -
(2) U ¥ A sewrs T R

(3) TrBRF ¥ U Uh! T ¥

(4) TXE! qwW ATSRE oAl B

& U yidad, fuset a9 #) sen 5 9., 9
TR AT RA TE H1/2 7. Sg &, A
I 48 9N §¢ B S ° U B AR (Hil
q) ¥

1) 2.00
(2) 3.00
(3) 2.75
(4) 2.50
gfe fgam guET

3x2+2(a?+1)x+ (a2—3a+2)=0

¥ T vl Fal % ¥, W a For sfewret & 3,
TR :

1)
(2)

(2 3)

(—=,—1)

bd from f@t)p://\xv_v%.'e\]/i):lyarthi.in/
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Directions : (For Q. 31 to 34). Which one of the answer figures, will complete the sequence of the
three problem figures ?

For: (231 @4 FW)1 TN FFla 7§ dt sgfa a7 997 snpiad § a4
T (sequerice) WE}FITQ'W?

Problem Figures | 997 3Wgfaar Answer Figures | I SUpiaal
B O ] v O] e v|®@® <] @ | e l
31. ® Oe ? v, e O|e e, @ By
ey (2 (3) €
o Lo e o] 2] R R Rkl DR
1) (2) (3) )

ERFT DEES

34. Efugat 1ateri30wnloaded freaeHtig: //wwivievidya thi.irp/——
GetCBSE Notes, Video Tutorials, Test 1apers & Sample Papers
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_‘ cw' (f—‘ Eﬁ.tﬁ fo 37). Which one of the answer figures shows the correct view of the 3 - D
¥ I yr : problem figure, after the figure is opened up ?

o FREBESUASORT )1 3-D 7o7 75 ) Bior T, 300 SIFiad 5 8, a8t 99 B #7
Problem Figure [ Answer Figures / Su¥ 3?75515?7‘1.
T SFIT

LI 11l
[T 111

111
CI_TT1

A S|t Y
&

- | H u
a) ® ® (;)
A @ A A
w /) <[> [~ <[]
! V V
(1) 2) ) (4)
n u — N
f I J
~[F sr ale elF el
| || || u
Educational Ma,:LariaI Downloaded f%m http://www.evidiarthi.in/ :

Get CBSE N?ﬁs, Video Tutorials, 'Egit Papers & Sample(gfpers @)



‘%&@Md@apﬂ?ﬂw 42).  Find out the total number of surfaces of the object given below, in the
problem figure.

P Nk WD S )1 wom srafs 7 P aeg %, wad 71 e W 79 0
Problem Figure / ¥ 3T$ld

38. 1) 12 ) 14 3) 15 @) 13

39. @ 1 17 (2) 20 (3 18 (4) 16
40. @ (1) 22 (2) 19 (3) 18 {4) 20
a1. @ (1) 18 2) 16 (3) 15 @) 17
42. Q) 13 @) 15 3) 14 @) 12
Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



:!' 5N . 44 . . : » - - . .
%refélvid(ffﬁﬁm“d ). The problem figure shows the top view of an object. Identify the

correct front view, from amongst the answer figures.

Freot RO B GR00S; g )1 go7 et 7 Fedl} v &1 590 €99 2@ v &1 I st &

Problem Figure / ¥¥7 el

43.

44,

R
0§

T 547 GE 9FE §¥F YEHIIT

Answer Figures | IR STpfodr

e AR e B e
(1) 2) )

£ é;;tﬂ_bi i

) @ ©) (4)

Directions : (For Q. 45 and 46).  The 3 - D problem figure shows an object. Identify, its correct top

view, from amongst the answer figures.

s : (W 45 31t 46 & RAT)1 3 -D 597 arrpla / u @ &7 fewrar v &1 5997 9E SR 59,

Problem Figure | ¥¥7 Sld

45,

46.

I ArFfr § @ A
Answer Figures | 3T Sfral

1] 517 51] o

Educatio

Get CB

(1) 2) 3) (4)
LI
1 1 s
nal Mat ariz!;DownIoz ded from Etp://ww N.er\u"dyé rtr;i:.in/
SE Notes, Video Tutorials, Test Papers & Sample Papers
1 (2) (3) 4



Dﬁ’ﬁr W o 49). Find the odd figure out in the problem figures given below :
g 47749 49 )i 7§ E weT srfad 4 | faww siwta Fard
EE Education
\ \
a7. ﬁ / /‘/I\‘;
(1) (2) (3) (4)
HOK K K
48. | N YN | '2F\ A
(1) (2) (3) (4)
S o B = 5]
P . '
29. |1 % Ca L | ]
1) (2) (3) (4)

Directions : (For Q. 50 and 31).

&t : (7 50 351 & 3@ )i

Problem Figure / W% 30l

51.

One of the answer figures given below is hidden in the problem figure,
in the same size and direction. Select, which one is correct,

7% §1 7 IO srpfaal 7 @ v angia A 3k fewn 7w w9 @
woq et o fout &) FhE g8 & gfgy
Answer Figures / 30 Sﬂfr"ﬁl?ﬁ

(4)

¢

)
vy

J
4)

net CBSE Notég)V|deo Tutorials, Te@)’apers & Sample P
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‘?’n@ﬁg&dm}ﬁ to 58).  The 3-D problem figure shows an object. Identify, the correct view,

FREE Education from amongst the answer figures, looking in the direction of the arrow.
FEvr: (W52 @58 F @)1 3-D 3v7 oNrgfd ¥ q& axg &1 fearar war &1 ot ¥ fawn & 2@d gq
559 TEl gvq ¥ I onFladl 7 | vEwAg|
Problem Figure / ¥ 37hld Answer Figures / IR 3wFloaar
N L L -

52. [ L] L] i

(1) @ ©) @

53.

N

Nl
Ng
-

) @ ) @

" L] | %J LN [

/ Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE N(@SS, Video Tutorials, @st Papers & Samptgfapers (4)
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55.

56.

57.

58.

MWWYQW

FREE Ed

J:]q_l_l

Answer Figures | FT 3TFHAA

] | ]

(2) @) @)

Educational M
s, Video Tutorials, Test

(2) 3) 4)
ﬁé T é
(2) () W
L N N
E ] il
I
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DtreVma (For 59) How many total number of rectangles are there in the problem figure given
below ?

FREE Educatlon
Fdor: (w59 & fom)r 719 @ orf wv srpfa 7 saal &1 o 9 ot 82

Problem Figure / 537 sl

59.

(1) 20 @ 17 3) 18 4) 19

Directions : (For Q. 60 and 61). How many total number of triangles are there, in the problem figures
given below ?

e : (w60 3ifte1 & fm) 917 & 7¥ g7 syrwloat | Byt &1 o aem feart 2

Problem Figure / F97 21hfid

60.

(1) 19 (2) 20 (3) 18 4) 17

61.

Educational Material Downloaded from http://www.evidyarthi.in/
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Problem Figure / 397 37TFfd

Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

IR AFIaa 8 § 761 SHIT 1 7 797 NFfT F1 X - X W Tt
g0y Flafora & 2

Answer Figures / 3T Ffar

62.
X
63.
X 8y (2) (3) (4)
X
X (1) (2) (3) 4
X
65.
EFucati nal Matefial Downlopded from http:/ waw.evid anthi.in/
XGet CBSENotes, Video Tutorials, Test Papers & Sample Papers
M) Q) 1 (4)
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67.

68.

69.

70.

@V' P\thqhades are required to | 66. &fdS B9, WA &F fFH AR F FEd WA FA
indows on which facades of a faefrdl =) gd ! fFo o 9= €72
EE%% : ucation
(1) North (1) 3JW
(2) South (2) =i
(3) East 3) @
(4) West (4) ¥
Which one of the following is an | 67. fifafEd § @ ®17 & aFR 7 ?
Architect ?
(1) Salman Rushdie (1) HeawH &
(2) Amrita Sher-Gill (2) e w-fire
(3) M.F. Hussain (3) TAUE g
(4} Christopher Benninger (4) FreRe affTsr
Which type of roof will keep the room | 68. ¥ T &l & FH F I W@ 7
cooler ?
(1) Asbestos sheet roofing (1) TEEH e Hl 94
(2) Concrete slab with cement plaster (2) FHIE Tl Fd, HHe T & WY
(3) Concrete slab with mud and brick (3) HFR Hf Bd, T iR 3 F A |
tiles T 63
(4) Concrete slab with mud, brick tiles (4) SHIE B TG, M, & H A 3N
and covered with potted plants T & iyl @ gt E‘sﬁ
Natural shadowless light is available from | 69. ¥Ra d, o1 &/ %1 Wpfas v f&7 fom
which direction in India ? ¥ IUeT © ?
(1} North (1) IWH
(2) South (2) <o d
(3) North-West (3) IU-ufrem @
(4) East (4) THE
Qutab Minar is largely cladded with : 70. o HER T a8 sifusat vd =eE T 7?2
(1) Brick 1) 3449
(2) Granite (2) T2
(3) Red sand sggﬂ%atlonal Material Downloadgd from ://W' iyarthbery o
et CBSE Notes, Video Tutorigls, Test Papers & Sampl& Papers
(4) Marble (4) TR
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72.

73.

74.

75.

W'fd aﬂhq following cities in India
e

ugﬁ?l glry region ?
Gangtok
Simla
Darjeeling
Leh

0y
)
)
4)

Which one of the following is a horizontal
member in a building that carries load ?

(1) Beam
(2) Arch
(3) Column
(4) Vault

Which one of the following consumes least
amount of electricity ?

(1) Light Emitting Diodes {LED)

{2) Tungsten Bulb

(3) 'Compact Fluorescent Lamp (CFL)
(4) Fluorescent Tube

Point out the incorrect combination :
(1)
(2)
3)
(4)

Agora and Greece
Pagoda and Burma
Vat and Combodia
Eiffel Tower and Congo

Which one is not a sound absorbing
material ?

(1) Ground glass
(2) Jute bags
(3)

4

Thermoco}qycational Material Downloade

Glass wool Get CBSE Notes, Video Tutorial

71.

72.

73.

74.

75.

g ¥, Frafataa wed o |, 9 38 ok
Yo el H e

OERLCED

(2) fomren

(3) =fsfan
(4) e

frfafgs & | =9 @ &1 s 9
HEAH® 9T € S fF YR 98T @ 7

(1) &

(2) e ()

(3) =W (wFiem)

(4) WSl Bd (dieR)

frafafga & @ $Ha, fasel & @ya )
g FH w1 &2

(1) WMl 3cHsish SHIE (LED)

(2) TR e

(3) ¥ed (Compact) Xfaeita @9 (CFL)
(4) wiadifa Aferh

1) aiRe 3R e

2) e R aw

3) e R wwalfem

4)  IAFHA R R M

L

(
(
(
(
e ggre eafq arasivE A £ 2.

foran =79
TEyq S

(1)
(2)

H from ht(g!)//wmmg{/arthi.in/
E, Test Paefj's &éﬁqpﬁPwrs



ﬁfﬁ eﬁllaé}aaﬁqu (Hawa Mahal) is located

77.

78.

79.

80.

FﬁEE Education

Andhra Pradesh
( ) Madhya Pradesh
(3) Rajasthan
(4) Jammu and Kashmir

Which city is based on sector planning ?
(1) Pune

(2) Patna
(3) Chandigarh
(4) Kolkata

In which place in India can we find cave
temples of three faiths ?

(1) Agra

(2) Madurai
(3) Delhi
(4) Ellora

The summer sun in Northern Hemisphere
rises from :

(1) East
(2) North
(3) South East

(4) North East

Name the city where canals are used as
transportation channels :

(1) Tokyo

(2) Canberra

(3) Manhattapqycational Material Downloade
(4) Venice Get CBSE Notes, Video Tutorial

76. 91 VEd w8l (Ud § 7

1) iy wew H

(2) TAWWH

(3) USRUEH

(4) < 3R wyER |

77,  HITE VR A AT O I ¥ 7
1 ™

) T

@) &g

(4) IR

78. WA W forq FE W W o7 gl & e uiet
foerd €2
(1) SrrH
(2) wgEA
3) feeoit &
4) TERH

o p—

79. TfHEl ¥, 39 eng 7, 4 wei & Frepera g2

1 ¢

(2) IWA

(3) TRmEa
(4) SHyEQ

80. I VR F W TAH, Sl 8L, AAEAN & &9
T g § ot § 2
Q) afeER
(2) FHE

H from ht@)//wm%rthi.in/
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FREE Educuwnswer Key for JEE(Main)-2013

PAPER - 2 (For B. Arch.)

DATE : 07-04-2013

CODE - O

Ques| 1 2 3 4 5 6 7 8 9 10
Ans 2 4 2 3 3 4 2 4 2 4
Ques| 11 12 13 14 15 16 17 18 19 20
Ans 4 4 4 3 4 4 4 3 4 4
Ques| 21 22 23 24 25 26 27 28 29 30
Ans 2 3 3 4 1 3 3 2 4 2
Ques| 31 32 33 34 35 36 37 38 39 40
Ans 2 1 3 1 4 2 4 1 1 2
Ques| 41 42 43 44 45 46 a7 48 49 50
Ans 4 3 1 1 4 1 1 1 2 2
Ques| 51 52 53 54 55 56 57 58 59 60
Ans 2 1 1 3 4 2 2 4 4 1
Ques| 61 62 63 64 65 66 67 68 69 70
Ans 3 4 1 1 1 4 1 2 1 4
Ques| 71 72 73 74 75 76 1 78 79 80
Ans 4 3 4 3 1 4 3 3 4 1
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